On an Algebra of Fuzzy *m*-ary Semihypergroups

Adrian Naço, Anila Peposhi, Kostaq Hila*, Serkan Onar, and Bayram Ali Ersoy

ABSTRACT. In this paper we deals with the fuzzy m-ary semihypergroups, fuzzy hyperideals and homomorphism theorems on m-ary semihypergroups and fuzzy m-ary semihypergroups. We also, introduce and study some classes of fuzzy hyperideals that of pure fuzzy, weakly pure fuzzy hyperideals in m-ary semihypergroups and some properties of them are investigated. We identify those m-ary semihypergroups for which every fuzzy hyperideal is idempotent. We also characterize the m-ary semihypergroups for which every fuzzy hyperideal is weakly pure fuzzy.

2020 Mathematics Subject Classification. 20N15, 03E72, 20N20. Key words and phrases. m-ary semihypergroup, pure (weakly pure) fuzzy hyperideal, regular (weakly regular) m-ary semihypergroups.

1. Introduction and preliminaries

Hyperstructure theory was introduced in 1934, when F. Marty [15] defined hypergroups based on the notion of hyperoperation, began to analyze their properties and applied them to groups. Algebraic hyperstructures are a suitable generalization of classical algebraic structures. In the following decades and nowadays, a number of different hyperstructures are widely studied from the theoretical point of view and for their applications to many subjects of pure and applied mathematics by many mathematicians. In a classical algebraic structure, the composition of two elements is an element, while in an algebraic hyperstructure, the composition of two elements is a set.

n-ary generalizations of algebraic structures is the most natural way for further development and deeper understanding of their fundamental properties. In [6], Davvaz and Vougiouklis introduced the concept of n-ary hypergroups as a generalization of hypergroups in the sense of Marty. Also, we can consider n-ary hypergroups as a nice generalization of n-ary groups. Davvaz and et. al. in [4] considered a class of algebraic hypersystems which represent a generalization of semigroups, hypersemigroups and n-ary semigroups.

The concept of a fuzzy set, introduced by Zadeh in his classic paper [22], provides a natural framework for generalizing some of the notions of classical algebraic structures and of abstract set theory. Fuzzy semigroups have been first considered by Kuroki [12]. After the introduction of the concept of fuzzy sets by Zadeh, several researches conducted the researches on the generalizations of the notions of fuzzy sets with huge

Received June 26, 2024. July 28, 2024.

^{*}Correspoding author.

applications in computer, logics and many branches of pure and applied mathematics. In 1971, Rosenfeld [20] defined the concept of fuzzy group. Since then many papers have been published in the field of fuzzy algebra their employment in fuzzy coding, fuzzy finite state machines and fuzzy languages. Fuzziness enjoys a homely place in the domain of formal languages (see [16], [17]). Recently fuzzy set theory has been well developed in the context of hyperalgebraic structure theory (see [2]). A recent book [1] contains a wealth of applications.

In this paper we deals with the fuzzy *m*-ary semihypergroups, fuzzy hyperideals and homomorphism theorems on m-ary semihypergroups and fuzzy m-ary semihypergroups. We also, introduce and study some classes of fuzzy hyperideals that of pure fuzzy, weakly pure fuzzy hyperideals in *m*-ary semihypergroups and some properties of them are investigated. We identify those *m*-ary semihypergroups for which every fuzzy hyperideal is idempotent. We also characterize the m-ary semihypergroups for which every fuzzy hyperideal is weakly pure fuzzy.

Recall first the basic terms and definitions from the hyperstructure theory.

2. Algebraic hypersystems and *m*-ary hyperstructures

In this section we recall some known notions on what is meant by an algebraic hypersystem and *m*-ary hyperstructure.

Let H be a nonempty set and f be a mapping $f : H \times H \to \mathcal{P}^*(H)$, where $\mathcal{P}^*(H)$ denotes the set of all nonempty subsets of H. Then f is called a *binary* (algebraic) hyperoperation on H. In general, a mapping $f: H \times H \times ... \times H \rightarrow$ $\mathcal{P}^*(H)$ where H appears m times, is called an m-ary (algebraic) hyperoperation, and m is called the *arity* of this hyperoperation. An algebraic system (H, f), where f is an m-ary hyperoperation defined on H, is called an m-ary hypergroupoid or an *m*-ary hypersystem. Since we identify the set $\{x\}$ with the element x, any mary (binary) groupoid is an *m*-ary (binary) hypergroupoid. (see [4, 5, 6, 13, 10, 11). Recently, Davvaz [3] published a book which exhaustively covers all concepts of semihypergroups.

Let f be an m-ary hyperoperation on H and $A_1, A_2, ..., A_m$ subsets of H. We define $f(A_1, A_2, ..., A_m) = \bigcup \{ f(x_1, x_2, ..., x_m) | x_i \in A_i, i = 1, 2, ..., m \}.$ We shall use the following abbreviated notation: the sequence x_i, x_{i+1}, \dots, x_j will be denoted by x_i^j . For $j < i, x_i^j$ is the empty symbol. In this convention, $f(x_1, ..., x_i, y_{i+1}, ..., y_j, z_{j+1}, ..., z_m)$ will be written as $f(x_1^i, y_{i+1}^j, z_{i+1}^m)$. In the case when $y_{i+1} = \dots = y_j = y$, the last expression will be written in the form $f(x_1^i, \overset{(j-i)}{y}, z_{j+1}^m)$. Similarly, for subsets A_1, A_2, \dots, A_m of H we define

$$f(A_1^m) = f(A_1, A_2, ..., A_m) = \bigcup \{ f(x_1^m) | x_i \in A_i, i = 1, ..., m \}.$$

The concept of (i, j)-associative operations was introduced by Thurston [19] and intensively studied by many authors such as Dudek [7] etc. An m-ary hyperoperation f is called (i, j) - associative if

$$f(x_1^{i-1}, f(x_i^{m+i-1}), x_{m+i}^{2m-1}) = f(x_1^{j-1}, f(x_j^{m+j-1}), x_{m+j}^{2m-1}),$$

holds for fixed $1 \leq i < j \leq m$ and all $x_1, x_2, ..., x_{2m-1} \in H$.

Note that (i, k)-associativity follows from (i, j)- and (j, k)-associativities.

If the above condition is satisfied for all $i, j \in \{1, 2, ..., m\}$, then we say that f is associative.

By an algebraic hypersystem $(H, f_1, f_2, ..., f_m)$ or simply H is meant a set H closed under a collection of m_i -ary hyperoperation f_i and often also satisfying a fixed set of laws, for instant, the associative law. A subset S of H constitues a subhypersystem iff S is closed under the same hyperoperations and satisfies the same fixed laws in H.

Let H be an algebraic hypersystem. A *j*-hyperideal j = 1, 2, ..., m relative to the *m*-ary hyperoperation is defined to be a subhypersystem I_j such that for any $x_1, x_2, ..., x_m \in H$, if $x_j \in I_j$ then $f(x_1, x_2, ..., x_m) \subseteq I_j$. The *j*-hyperideal relative to f generated by an element $a \in H$ (usually called a principal *j*-hyperideal) is denoted by $(a)_j = f(H, H, ..., a, ..., H) \cup \{a\}$. A subhypersystem I which is a *j*-hyperideal for each j = 1, ..., m is simply called an hyperideal. An *m*-ary hypergroupoid (H, f) will be called an *m*-ary semihypergroup if and only if f is associative. The element e is called identity element of *m*-ary semihypergroup (H, f) if $x \in f(\underline{e}, ..., e, x, \underline{e}, ..., e)$ for all

 $x \in H$ and $1 \leq i \leq m$ [6]. In [4, 5, 8] it is discussed in details the problem of numbers and of existence of neutral elements in *m*-ary semihypergroups in different situations. In [4], it is proved that: An *m*-ary hypersemigroup (H, f) has a neutral element if and only if there exists a binary hypersemigroup (H, \circ) such that $f(x_1^m) = x_1 \circ x_2 \circ \ldots \circ x_m$, for all $x_1^m \in H$. A subset *S* of *m*-ary semihypergroup (H, f) is called an *m*-ary subsemihypergroup of *H* iff $f(a_1^m) \subseteq H$, for all $a_1, \ldots, a_m \in S$.

An *m*-ary semihypergroup *H* is said to be *regular* [11] if for each $a \in H$ there exist $x_2, x_3, \ldots, x_m; y_1, y_3, \ldots, y_m; \ldots; z_1, z_2, \ldots, z_{m-1} \in H$ such that

$$a \in f(f(a, x_2, \dots, x_m), f(y_1, a, y_3, \dots, y_m), \dots, f(z_1, z_2, \dots, z_{m-1}, a)).$$

Regular elements (and connection with ideals) in *n*-ary semigroups were studied by F.M. Sioson [21] and by Dudek and I. Groździńska [9]. An *m*-ary semihypergroup H is called regular if all of its elements are regular. An *m*-ary semihypergroup (H, f) is said to be *k*-weakly regular if for each $a \in H, a \in f(f(H, ..., \overset{(k)}{a}, ..., H), ..., f(H, ..., \overset{(k)}{a}, ..., H))$. It is clear that every regular *m*-ary semihypergroup is *k*-weakly regular but the converse is not true.

Let (H, f) be an *m*-ary semihypergroup and ρ be an equivalence relation on *H*. If *A* and *B* are non-empty subsets of *H*, then $A\overline{\rho}B$ means that for every $a \in A$, there exists $b \in B$ such that $a\rho b$ and for every $b_1 \in B$, there exists $a_1 \in A$ such that $a_1\rho b_1$ and $A\overline{\rho}B$ means that for every $a \in A$ and $b \in B$, we have $a\rho b$.

The equivalence relation ρ on an *m*-ary semihypergroup (H, f) is called *k*-regular if for all $x_1, ..., x_m \in H$, from $a\rho b$, it follows that

$$f(x_1^{k-2}, a, x_{k+1}^m)\overline{\rho}f(x_1^{k-2}, b, x_{k+1}^m),$$

and is called k-strongly regular if for $x_1, ..., x_m \in H$, $a\rho b$ implies that

$$f(x_1^{k-2}, a, x_{k+1}^m)\overline{\overline{\rho}}f(x_1^{k-2}, b, x_{k+1}^m).$$

 ρ is called regular (strongly regular) if it is k-regular (strongly regular) for every $1 \le k \le m$ [18].

3. Properties of *m*-ary semihypergroups

In this section, we investigate some basic properties of m-ary semihypergroups. We introduce the notion of homomorphism between two m-ary semihypergroups and some related characterizations are provided, which will be used in the sequel of the paper. We also introduce the notion of k-pure hyperideals of m-ary semihypergroups and give a characterization of them.

Definition 3.1. Let (H, f) and (H', f') are two *m*-ary semihypergroups. The mapping $\varphi : H \to H'$ is called a homomorphism if for all $x_1, ..., x_m \in H$, $\varphi(f(x_1, ..., x_m)) = f'(\varphi(x_1), ..., \varphi(x_m))$.

Remark 3.1. Let (H, f) and (H', f') are two *m*-ary semihypergroups. The mapping $\varphi : H \to H'$ is called an weak homomorphism if for all $x_1, ..., x_m \in H$, $\varphi(f(x_1, ..., x_m)) \subseteq f'(\varphi(x_1), ..., \varphi(x_m)).$

Theorem 3.1. Let (H, f), (H', f') and (H'', f'') are three m-ary semihypergroups. If mappings $\varphi : H \to H'$ and $\sigma : H' \to H''$ are homomorphisms, then $\sigma \circ \varphi : H \to H''$ is also a homomorphism.

Proof. Omitted as obvious.

Definition 3.2. Let \cong be an equivalence relation on the *m*-ary semihypergroup (H, f)and A_i and B_i be the subsets of H for all $1 \leq i \leq m$. We define $A_i \cong B_i$ iff for all $a_i \in A_i$ there exists $b'_i \in B_i$ such that $a_i \cong b'_i$ and for all $b_i \in B_i$ there exists $a'_i \in A_i$ such that $a'_i \cong b_i$.

An equivalence relation \cong is called a congruence relation on H if the following holds: $\forall a_1, ..., a_m, b_1, ..., b_m \in H$, if $\{a_i\} \cong \{b_i\}$, then $\{f(a_1^m)\} \cong \{f(b_1^m)\}$, where $1 \leq i \leq m$.

Lemma 3.2. Let (H, f) be an m-ary semihypergroup with identity element and \cong be the congruence relation on H. If $\{x\} \cong \{y\}$, then $\{f(x, a_1^{m-1})\} \cong \{f(y, a_1^{m-1})\}$ for all $x, y, a_1, ..., a_{m-1} \in H$.

Proof. Let $x, y \in H$ such that $\{x\} \cong \{y\}$ and e be the identity element of H. Then we have $f(x, e, ..., e) \cong f(y, e, ..., e)$. This implies the followings:

This implies the followings:

$$\begin{array}{rcl} f(f(x,a_{1},\underbrace{e,...,e}),a_{2},\underbrace{e,...,e}) &\cong& f(f(y,a_{1},\underbrace{e,...,e}),a_{2},\underbrace{e,...,e}) \\ f(f(x,a_{1},a_{2},\underbrace{e,...,e}),\underbrace{e,...,e}) &\cong& f(f(y,a_{1},a_{2},\underbrace{e,...,e}),\underbrace{e,...,e}) \\ &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-1}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow}} & f(f(y,a_{1},a_{2},\underbrace{e,...,e}),\underbrace{e,...,e}) \\ &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-1}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-1}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-1}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset{m-3}{\longrightarrow}} &\stackrel{}{\underset$$

$$\{f(x, a_1, a_2, \underbrace{e, \dots, e}_{m-3})\} \cong \{f(y, a_1, a_2, \underbrace{e, \dots, e}_{m-3})\}$$

Continuing in this way till a_{m-1} , we finally get $\{f(x, a_1^{m-1})\} \cong \{f(y, a_1^{m-1})\}$. \Box

Theorem 3.3. Let (H, f) be an m-ary semihypergroup with identity element and \cong be the congruence relation on H. If $\{a_i\} \cong \{b_i\}$ and $\{x_j\} \cong \{y_j\}$ for all $a_i, b_i, x_j, y_j \in H$ and $i, j \in \{1, ..., m\}$, then for all $k \in \{1, ..., m\}$, we have $\{f(a_1^k, x_{k+1}^m)\} \cong \{f(b_1^k, y_{k+1}^m)\}$.

Proof. It is similar to the proof of the above lemma.

Definition 3.3. Let (H, f) be an *m*-ary semihypergroup and \cong be a congruence on H. Then the quotient of H by \cong , written as $[H :\cong]$, is the algebra whose universe is $[H :\cong]$ and whose fundamental operation satisfy

$$f^{[H:\cong]}([x_1]_{\cong},...,[x_m]_{\cong}) = [f^H(x_1,...,x_m)]_{\cong} = \{[a]_{\cong} : a \in f^H(x_1,...,x_m)\}$$

where $x_1, ..., x_m \in H$.

Let (H, f) and (H', f') be two *m*-ary semihypergroups and $\varphi : H \to H'$ be a homomorphism. The relation $\varphi \circ \varphi^{-1}$ is an equivalence ρ on H $(a\rho b)$ if and only if $\varphi(a) = \varphi(b)$ known as the kernel of φ . The natural mapping associated with ρ is $\gamma : H \to H/Ker\varphi$, where $\gamma(a) = \rho(a)$. The mapping $\psi : H/\rho \to H'$, where $\psi(\rho(a)) = \varphi(a)$, is then the unique bijection.

Theorem 3.4. Let (H, f) and (H', f') be two *m*-ary semihypergroups and $\varphi : H \to H'$ be a homomorphism. Then $\rho = Ker\varphi$ is a congruence and there exists a homomorphism $g : H/\rho \to H'$ such that $Img = Im\varphi$.

Proof. Clearly, ρ is an equivalence relation. Let we prove that ρ is a congruence. Let us suppose that $a_i\rho a'_i$, for all $1 \leq i \leq m$. Then we have $\varphi(a_i) = \varphi(a'_i)$ for all $1 \leq i \leq m$. Therefore $\varphi(f(a_1^m)) = f'(\varphi(a_1), ..., \varphi(a_m)) = f'(\varphi(a'_1), ..., \varphi(a'_m)) = \varphi(f(a'_1, ..., a'_m))$. Consequently, $f(a_1, ..., a_m)\rho f(a'_1, ..., a'_m)$. Therefore, ρ is a congruence on H.

Let we define $g: H/\rho \to H'$ by $g(\rho(a)) = \varphi(a)$. Then g obviously, is well-defined and one to one. Also g is homomorphism. Indeed:

If $\rho(a_i) \in H/\rho$ for $1 \le i \le m$, then

$$\begin{split} g(f^{H/\rho}(\rho(a_1),...,\rho(a_m))) &= g(\{\rho(z)|z \in f(\rho(a_1),...,\rho(a_m))\}) \\ &= \{\varphi(z)|z \in f(\rho(a_1),...,\rho(a_m))\} \\ &= \varphi\left(\bigcup_{x_1 \in \rho(a_1),...,x_m \in \rho(a_m)} f(x_1,...,x_m)\right) \\ &= \bigcup_{x_1 \in \rho(a_1),...,x_m \in \rho(a_m)} \varphi(f(x_1,...,x_m)) \\ &= \bigcup_{x_1 \in \rho(a_1),...,x_m \in \rho(a_m)} f'(\varphi(x_1),...,\varphi(x_m)) \\ &= f'(\varphi(a_1),...,\varphi(a_m)) \\ &= f'(g(\rho(a_1),...,g(\rho(a_m)))) \end{split}$$

Therefore g is homomorphism. Clearly, $Img = Im\varphi$.

 \square

Theorem 3.5. [18, Proposition 3.2] Let (H, f) be an m-ary semihypergroup and \cong be an equivalence relation and strongly regular on H. Then $([H :\cong], f^{[H:\cong]})$ is also an m-ary semihypergroup.

Definition 3.4. Let (H, f) be an *m*-ary semihypergroup and \cong be a congruence relation on *H*. Then the natural map $\sigma_{\cong} : H \to [H :\cong]$ is defined by $\sigma_{\cong}(a_i) = [a_i]_{\cong}$ where $a_i \in H$ for all $1 \leq i \leq m$.

Theorem 3.6. Let (H, f) be an *m*-ary semihypergroup and \cong be a congruence relation on *H*. Then the natural map $\sigma_{\cong} : H \to [H :\cong]$ is an onto homomorphism.

Proof. For all $a_i \in H$, where $1 \leq i \leq m$, we have:

$$\begin{aligned} \sigma_{\cong}(f^{H}(a_{1},...,a_{m})) &= [f^{H}(a_{1},...,a_{m})]_{\cong} \\ &= f^{[H:\cong]}([a_{1}]_{\cong},...,[a_{m}]_{\cong}) \\ &= f^{[H:\cong]}(\sigma_{\cong}(a_{1}),...,\sigma_{\cong}(a_{m})). \quad \Box \end{aligned}$$

Theorem 3.7. Let (H, f) be an m-ary semihypergroup and σ, ρ be two congruence relations on H such that $\rho \subseteq \sigma$. Then

 $\sigma/\rho = \{(\rho(x), \rho(y)) \in H/\rho \times H/\rho : (x, y) \in \sigma\}$ is a congruence on H/ρ and $(H/\rho)/(\sigma/\rho) \cong H/\sigma$.

Proof. It can be easily deduced that σ/ρ is an equivalence relation on H/ρ . Let we prove that it is a congruence. Let us suppose that $\rho(a_i)(\sigma/\rho)\rho(b_i)$ for all $1 \le i \le m$. Since σ is congruence on H, then $f(a_1^m)\sigma f(b_1^m)$ which implies that $\rho(f(a_1^m))(\sigma/\rho)\rho(f(b_1^m))$. Therefore, σ/ρ is a congruence on H/ρ .

We note that σ/ρ is the kernel of g where $g: H/\rho \to H/\sigma$. Then by Theorem 3.8, it follows that there is an isomorphism $q: (H/\rho)/(\sigma/\rho) \to H/\sigma$ defined by $q((\sigma/\rho)(\rho(a)) = \sigma(a)$ for all $a \in H$.

In the following we introduce the notion of k-pure hyperideals of m-ary semihypergroups and give a characterization of them.

Definition 3.5. Let (H, f) be an *m*-ary semihypergroup. A hyperideal A of H is called a *k*-pure hyperideal if for each $x \in A$, there exist elements $x_1, ..., x_{k-1}, x_{k+1}, ..., x_m \in A$ such that $x \in f(x_1, ..., x_{k-1}, x, x_{k+1}, ..., x_m)$.

Proposition 3.8. Let (H, f) be an m-ary semihypergroup. Let A be a hyperideal of H. Then A is k-pure if and only if for any k-hyperideal B, $B \cap A = f(A, ..., \overset{(k)}{B}, ..., A)$. Proof. Suppose A is an k-pure hyperideal of H. For every k-hyperideal B of H, we have always $f(A, ..., \overset{(k)}{B}, ..., A) \subseteq B \cap A$. Let $x \in B \cap A$. Since A is an k-pure hyperideal, there exist $x_1, ..., x_{k-1}, x_{k+1}, ..., x_m \in A$ such that $x \in f(x_1, ..., x_{k-1}, x, x_{k+1}, ..., x_m)$. As $x \in B$ and $x_1, ..., x_{k-1}, x_{k+1}, ..., x_m \in A$, $x \in f(x_1, ..., x_{k-1}, x, x_{k+1}, ..., x_m) \subseteq f(A, ..., \overset{(k)}{B}, ..., A)$. This implies that $B \cap A \subseteq f(A, ..., \overset{(k)}{B}, ..., A)$. Thus $B \cap A = f(A, ..., \overset{(k)}{B}, ..., A)$.

Conversely, assume $B \cap A = f(A, ..., \overset{(k)}{B}, ..., A)$, for any k-hyperideal B of H. We show that A is an k-pure hyperideal. Let $x \in A$ and $B = \{x\} \cup f(H, ..., \overset{(k)}{x}, ..., H)$ be

the k-hyperideal of H generated by x. Then we have

$$\begin{split} (\{x\} \cup f(H,...,\overset{(k)}{x},...,H)) \cap A &= f(A,...,(\{x\} \cup f(H,...,\overset{(k)}{x},...,H)),...,A) \\ &= f(A,...,x,...,A) \cup f(A,...,f(H,...,\overset{(k)}{x},...,H),...,A) \\ &\subseteq f(A,...,x,...,A) \cup f(A,...,x,...,A) \\ &= f(A,...,x,...,A). \end{split}$$

Since $x \in (\{x\} \cup f(H, ..., \overset{(k)}{x}, ..., H)) \cap A$, we have $x \in f(A, ..., x, ..., A)$. Hence there exist $x_1, ..., x_{k-1}, x_{k+1}, ..., x_m \in A$ such that $x \in f(x_1, ..., x_{k-1}, x, x_{k+1}, ..., x_m)$. Thus A is k-pure.

Definition 3.6. Let (H, f) be an *m*-ary semihypergroup. A hyperideal A of H is called *k*-weakly pure if $A \cap B = f(A, ..., B, ..., A)$ for all hyperideals B of H.

4. On fuzzy *m*-ary semihypergroups

In this section, we introduce the notion of fuzzy m-ary semihypergroups and some basic properties of them are obtained.

A mapping $\mu: X \to [0, 1]$, where X is an arbitrary non-empty set, is called a *fuzzy* subset in X. A fuzzy subset $\mu: X \to [0, 1]$ is called a non-zero fuzzy subset if μ is not the constant map which assumes the value 0. For fuzzy subsets μ and ν of X, $\mu \leq \nu$ means that for all $a \in X, \mu(a) \leq \nu(a)$. For a fuzzy subset μ of X and $t \in [0, 1]$, the set $\mu_t = \{x \in X | \mu(x) \geq t\}$ is called the level subset of μ . The characteristic function μ_X of X is a function which gives $\mu_X(a) = 1$ for all $a \in X$.

In [14], the author has obtained the followings:

Definition 4.1. A fuzzy m-ary hyperoperation on H is a map

$$f:\underbrace{H\times H\times \ldots\times H}_{m}\to F^{*}(H)$$

which associates a nonzero fuzzy subset $f(a_1^m)$ with any *m*-uple a_1^m of elements of *H*, where *H* is a nonempty set and $F^*(H)$ is the set of all non-zero fuzzy subsets of *H*.

The couple (H, f) is called a *fuzzy m-ary hypergroupoid*. We say that (H, f) is commutative if for all a_1^m of H and any permutation σ of H_n , we have $f(a_1^m) = f(a_{\sigma(1)}^{\sigma(m)})$.

A fuzzy nullary hyperoperation on H is just an element of $F^*(H)$, i.e. a nonzero fuzzy subset of H.

Definition 4.2. A fuzzy *m*-ary hypergroupoid (H, f) is called a fuzzy *m*-ary semi-hypergroup if for all a_1^{2m-1} of H, we have

$$f(a_1^{i-1}, f(a_i^{m+i-1}), a_{m+i}^{2m-1}) = f(a_1^{j-1}, f(a_j^{m+j-1}), a_{m+j}^{2m-1}),$$

where for any $\mu \in F^*(H)$ and any $r \in H$, we have

$$f(a_1^{i-1}, \mu, a_{m+i}^{2m-1})(r) = \bigvee_{t \in H} (f(a_1^{i-1}, t, a_{m+i}^{2m-1})(r) \wedge \mu(t)).$$

If A is a nonempty subset of H and $x_1^{i-1}, x_{i+1}^m \in H$, then for all $t \in H$ we have:

$$f(x_1^{i-1}, A, x_{i+1}^m)(t) = \bigvee_{a \in A} (f(x_1^{i-1}, a, x_{i+1}^m)(t))$$

If A is a nonempty subset of H, then we denote the characteristic function of A by χ_A . If A = H, then for all $t \in H$, we have $\chi_H(t) = 1$.

Let us consider now (H, f) a fuzzy *m*-ary hypergroupoid. We define the following hyperoperation:

$$\forall a_1^m \in H, \varphi_f(a_1^m) = \{ x \in H | f(a_1^m)(x) > 0 \}.$$

If (H, φ) is an *m*-ary hypergroupoid, then we can define the following fuzzy *m*-ary hyperoperation:

$$\forall a_1^m \in H, f_{\varphi}(a_1^m) = \chi_{\varphi(a_1^m)}.$$

Then (H, φ_f) is an *m*-ary hypergroupoid, which is called the associated *m*-ary hypergroupoid of (H, f). Also, (H, f_{φ}) is a fuzzy *m*-ary hypergroupoid, which is called the fuzzy associated *m*-ary hypergroupoid of (H, φ) .

We have the following theorem [14]:

Theorem 4.1. The following statements hold true:

- (1) If (H, f) is a fuzzy m-ary semihypergroup, then (H, φ_f) is an m-ary semihypergroup.
- (2) If (H, φ) is an m-ary semihypergroup, then (H, f_{φ}) is a fuzzy m-ary semihypergroup.

According to the above theorem, any m-ary semihypergroup can be seen as a fuzzy m-ary semihypergroup.

Let H_1 and H_2 be two fuzzy *m*-ary semihypergroups and $h: H_1 \to H_2$ be a map. If μ is a fuzzy subset on H_1 , then we define $h(\mu): H_2 \to [0, 1]$, as follows:

$$(h(\mu))(t) = \bigvee_{r \in h^{-1}(t)} \mu(r), \text{ if } h^{-1}(t) \neq \emptyset,$$

otherwise we consider $(h(\mu))(t) = 0$.

Also, if $h: H_1 \to H_2$ is a map and $a \in H_1$, then $h(\chi_a) = \chi_{h(a)}$.

Definition 4.3. Let (H_1, f_1) and (H_2, f_2) be two fuzzy *m*-ary semihypergroups and $h: H_1 \to H_2$ be a map. We say that *h* is a homomorphism of fuzzy *m*-ary semihypergroups if for all a_1^m of H_1 , we have

$$h(f_1(a_1^m)) \le f_2(h(a_1), ..., h(a_m))$$

The following theorems present connections between fuzzy m-ary semihypergroup homomorphisms and m-ary semihypergroup homomorphisms [14].

Theorem 4.2. Let (H_1, f_1) and (H_2, f_2) be two fuzzy m-ary semihypergroups and $(H_1, \varphi_{f_1}), (H_2, \varphi_{f_2})$ be the associated m-ary semihypergroups. If $h : H_1 \to H_2$ is a homomorphism of fuzzy m-ary semihypergroups, then h is a homomorphism of the associated m-ary semihypergroups, too.

Theorem 4.3. Let (H_1, φ_1) and (H_2, φ_2) be two m-ary semihypergroups and (H_1, f_{φ_1}) , (H_2, f_{φ_2}) be the associated fuzzy m-ary semihypergroups. The map $h : H_1 \to H_2$ is a homomophism of m-ary semihypergroups iff it is a homomorphism of the associated fuzzy m-ary semihypergroups.

Definition 4.4. Let (H, f) be a fuzzy *m*-ary semihypergroup and (H, φ_f) be the associated *m*-ary semihypergroup. A nonempty subset *S* is called a subfuzzy *m*-ary semihypergroup if for all $s_1^m \in S$, the following conditions hold:

(1) if $s_1^m \in S$ and $f(s_1^m)(x) > 0$, then $x \in S$;

(2) (S, f) is a fuzzy *m*-ary semihypergroup.

The next two theorems point out on the connections between subfuzzy m-ary semihypergroups and m-ary subsemihypergroups.

Theorem 4.4. If (S, f) is a subfuzzy m-ary semihypergroup of (H, f), then (S, φ_f) is an m-ary subsemihypergroup of (H, φ_f) .

Theorem 4.5. (S, φ) is an *m*-ary subsemihypergroup of (H, φ) if and only if (S, f_{φ}) is a subfuzzy *m*-ary semihypergroup of (H, f_{φ}) .

Let $\mu_1, ..., \mu_m$ be fuzzy subsets of X. With min $\{\mu_1, ..., \mu_m\}$ and sup $\{\mu_1, ..., \mu_m\}$ we will mean the following fuzzy subsets of X:

$$\min\{\mu_1, ..., \mu_m\}(a) = \min\{\mu_1(a), ..., \mu_m(a)\}$$

$$\sup\{\mu_1, ..., \mu_m\}(a) = \sup\{\mu_1(a), ..., \mu_m(a)\}$$

for all $a \in X$.

If $\mu_1, ..., \mu_m$ are fuzzy subsets of an *m*-ary semihypergroup *H* and *x* be an element of *H*, then

$$(\mu_1 \circ \dots \circ \mu_m)(x) = \begin{cases} \sup_{x \in f(a_1^m)} \min\{\mu_1(a_1), \dots, \mu_m(a_m)\}, & \text{if } x \in f(a_1^m) \\ 0, & \text{otherwise} \end{cases}$$

Lemma 4.6. For any non-empty subsets $X_1, ..., X_m$ of an m-ary semihypergroup (H, f), we have

(1) $\mu_{X_1} \circ \dots \circ \mu_{X_m} = \mu_{f(X_1,\dots,X_m)}$

(2) $\min\{\mu_{X_1}, ..., \mu_{X_m}\} = \mu_{X_1 \cap ... \cap X_m}.$

Proof. Proof is straightforward.

Definition 4.5. Let (H, f) be an *m*-ary semihypergroup. A fuzzy subset μ of *H* is called a *fuzzy m-ary subsemihypergroup* of *H* if $\inf_{t \in f(x_1,...,x_m)} \mu(t) \ge \min\{\mu(x_1),...,\mu(x_m)\}$

for all $x_1, ..., x_m \in H$.

Definition 4.6. Let (H, f) be an *m*-ary semihypergroup. A fuzzy subset μ of *H* is called a *fuzzy k-hyperideal* of *H* if

$$\inf_{x \in f(x_1, \dots, x_m)} \mu(t) \ge \mu(x_k) \text{ for all } x_1, \dots, x_m \in H.$$

 μ is called a *fuzzy hyperideal* of H if μ is a fuzzy k-hyperideal of H for every k = 1, 2, ..., m or equivalently if

$$\inf_{t \in f(x_1^m)} \mu(t) \ge \max\{f(x_1), ..., f(x_m)\} \text{ for all } x_1, ..., x_m \in H.$$

Theorem 4.7. Let (H, f) be an m-ary semihypergroup. A fuzzy subset μ of H is a fuzzy hyperideal if and only if every non-empty level subset is a hyperideal of H.

Proof. Let us suppose that μ is a fuzzy hyperideal of H and let μ_t is a level subset of μ . If $x_1, ..., x_m \in \mu_t$ for some $t \in [0, 1]$, then for the definition, we have $\mu(x_1) \ge t, ..., \mu(x_m) \ge t$. Thus, $\min\{\mu(x_1), ..., \mu(x_m)\} \ge t$. From this we get:

$$\inf_{z \in f(x_1^m)} \mu(z) \ge \min\{\mu(x_1), ..., \mu(x_m)\} \ge t.$$

So, we get $\mu(z) \ge t$, for all $z \in f(x_1^m)$. Therefore $f(x_1, ..., x_m) \subseteq \mu_t$.

Conversely, let us suppose that every non-empty level subset μ_t is a hyperideal of *H*. Let $t_0 = \min\{\mu(x_1), ..., \mu(x_m)\}$ for all $x_1, ..., x_m \in H$. Then we have $\mu(x_1) \geq 0$ $t_0, \dots, \mu(x_m) \ge t_0$. Thus $x_1, \dots, x_m \in \mu_{t_0}$. We obtain also that $f(x_1, \dots, x_m) \subseteq \mu_{t_0}$. Therefore, $\min\{\mu(x_1), \dots, \mu(x_m)\} = t_0 \le \inf_{z \in f(x_1^m)} \mu(z)$.

Theorem 4.8. Let (H, f) be an m-ary semihypergroup and I be a non-empty subset of H. Let μ_I be a fuzzy set defined by:

$$\mu_I(x) = \begin{cases} s, & \text{if } x \in I \\ t, & \text{otherwise,} \end{cases}$$

where $0 \leq t < s \leq 1$. Then μ_I is a fuzzy k-hyperideal of H if and only if I is a k-hyperideal of H.

Corollary 4.9. Let (H, f) be an m-ary semihypergroup and μ be a fuzzy set of H such that its upper bound is t_0 . Then the followings are equivalent:

- (1) μ is a fuzzy hyperideal of H
- (2) Every non-empty level subset of μ is a hyperideal of H.
- (3) Every level subset μ_t is a hyperideal of H where $t \in [0, t_0]$.

Theorem 4.10. Let (H, f) be an m-ary semihypergroup and A a non-empty subset of H. The following statements hold true:

- (1) A is an m-ary subsemilypergroup of H if and only if μ_A is a fuzzy m-ary subsemihypergroup of H.
- (2) A is a hyperideal of H if and only if μ_A is a fuzzy hyperideal of H.

In the following two sections, we introduce and study some classes of fuzzy hyperideals that of pure fuzzy, weakly pure fuzzy hyperideals in *m*-ary semihypergroups and some properties of them are investigated. We identify those *m*-ary semihypergroups for which every fuzzy hyperideal is idempotent. We also characterize the m-ary semihypergroups for which every fuzzy hyperideal is weakly pure fuzzy.

5. On pure fuzzy hyperideals in *m*-ary semihypergroups

Definition 5.1. A fuzzy hyperideal λ of an *m*-ary semihypergroup (H, f) is called a pure fuzzy hyperideal of H if $\mu \wedge \lambda = \lambda \circ \dots \circ \overset{(k)}{\mu} \circ \dots \circ \lambda$ for all fuzzy k-hyperideals μ of H.

Proposition 5.1. Let I be a hyperideal of an m-ary semihypergroup (H, f). Then the following statements are equivalent:

- (1) I is an k-pure hyperideal in H,
- (2) The characteristic function of I, denoted by δ_I is pure fuzzy hyperideal of H.

Proof. (1) \Rightarrow (2). Let us suppose that I is k-pure in H. Since I is a hyperideal of H, δ_I is obviously a fuzzy hyperideal of H. To prove that δ_I is pure fuzzy, we show that

for any fuzzy k-hyperideal γ of H, $\gamma \wedge \delta_I = \underbrace{\delta_I \circ \dots \circ \gamma}_m^{(k)} \circ \dots \circ \delta_I$. Let $a \in H$. Then

$$\begin{aligned} (\delta_{I} \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \delta_{I})(a) &= \bigvee_{a \in f(x_{1}^{m})} \{\delta_{I}(x_{1}) \wedge \dots \wedge \stackrel{(k)}{\gamma}(x_{k}) \wedge \dots \wedge \delta_{I}(x_{m})\} \\ &\leq \bigvee_{a \in f(x_{1}^{m})} \{\bigwedge_{t \in f(x_{1}^{m})} \{\delta_{I}(t), \dots, \stackrel{(k)}{\gamma}(t), \dots, \delta_{I}(t)\}\} \\ &= \bigvee_{a \in f(x_{1}^{m})} \{\delta_{I}(a) \wedge \dots \wedge \stackrel{(k)}{\gamma}(a) \wedge \dots \wedge \delta_{I}(a)\} \\ &= \delta_{I}(a) \wedge \dots \wedge \stackrel{(k)}{\gamma}(a) \wedge \dots \wedge \delta_{I}(a) \\ &= (\delta_{I} \wedge \dots \wedge \stackrel{(k)}{\gamma} \wedge \dots \wedge \delta_{I})(a). \end{aligned}$$

This implies that $(\delta_I \circ \ldots \circ \stackrel{(k)}{\gamma} \circ \ldots \circ \delta_I)(a) \leq (\gamma \wedge \delta_I)(a)$, so $(\delta_I \circ \ldots \circ \stackrel{(k)}{\gamma} \circ \ldots \circ \delta_I) \leq \gamma \wedge \delta_I$. We have $(\delta_I \wedge \ldots \wedge \stackrel{(k)}{\gamma} \wedge \ldots \wedge \delta_I)(a) = (\delta_I(a) \wedge \ldots \wedge \stackrel{(k)}{\gamma}(a) \wedge \ldots \wedge \delta_I(a)) = 0$ if $a \notin I$. Thus $(\delta_I \wedge \ldots \wedge \stackrel{(k)}{\gamma} \wedge \ldots \wedge \delta_I)(a) = 0 \leq (\delta_I \circ \ldots \circ \stackrel{(k)}{\gamma} \circ \ldots \circ \delta_I)(a)$. Let we consider the case when $a \in I$. Since I is k-pure, then for each $a \in I$, there exist $x_1, \ldots x_{k-1}, x_{k+1}, \ldots, x_m \in I$ such that $a \in f(x_1, \ldots, a, \ldots, x_m)$. Since $x_1, \ldots x_{k-1}, x_{k+1}, \ldots, x_m \in I, \delta_I(x_i) = 1, i = 1, \ldots, k-1, k+1, \ldots, m$. Therefore

$$\begin{split} (\delta_{I} \wedge \dots \wedge \stackrel{(k)}{\gamma} \wedge \dots \wedge \delta_{I})(a) &= (\delta_{I}(a) \wedge \dots \wedge \stackrel{(k)}{\gamma}(a) \wedge \dots \wedge \delta_{I}(a)) \\ &= (\delta_{I}(x_{1}) \wedge \dots \wedge \stackrel{(k)}{\gamma}(a) \wedge \dots \wedge \delta_{I}(x_{m})) \\ &\leq \bigvee_{a \in f(x_{1}, \dots, a, \dots, x_{m})} (\delta_{I}(x_{1}) \wedge \dots \wedge \stackrel{(k)}{\gamma}(a) \wedge \dots \wedge \delta_{I}(x_{m})) \\ &= (\delta_{I} \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \delta_{I})(a) \\ &\delta_{I} \wedge \dots \wedge \stackrel{(k)}{\gamma} \wedge \dots \wedge \delta_{I} &\leq \delta_{I} \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \delta_{I}. \end{split}$$
Thus $\delta_{I} \wedge \dots \wedge \stackrel{(k)}{\gamma} \wedge \dots \wedge \delta_{I} = \delta_{I} \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \delta_{I}.$ This implies that $\gamma \wedge \delta_{I} = \delta_{I} \circ \dots \circ \stackrel{(k)}{\gamma}$

(2) \Rightarrow (1). Let us suppose that δ_I is pure fuzzy hyperideal in H. We show that I is k-pure in H. That is for each k-hyperideal J of H, $J \cap I = f(I, ..., \overset{(k)}{J}, ..., I)$. Since J is an k-hyperideal of H, the characteristic function δ_J of J is a fuzzy k-hyperideal of H. Since δ_I is pure fuzzy, we have $\delta_J \wedge \delta_I = \delta_I \circ ... \circ \overset{(k)}{\delta}_J \circ ... \delta_I$. This implies that $\delta_{J \cap I} = \delta_{I(I,...,I)}$. Hence I is k-pure.

Proposition 5.2. Let (H, f) be an m-ary semihypergroup. The following assertions are true:

(1) The fuzzy hyperideals φ and μ_H of H, defined respectively as

$$\varphi(x) = \begin{cases} 0, & \text{if } x \neq 0\\ 1, & \text{if } x = 0 \end{cases}$$

and $\mu_H(x) = 1$ for all $x \in H$, are pure fuzzy hyperideals of H.

- (2) If $\{\lambda_i : i \in I\}$ is a family of pure fuzzy hyperideals of H, then so is $\bigvee_{i \in I} \lambda_i$.
- (3) If λ_1 and λ_2 are pure fuzzy hyperideals of H, then so is $\lambda_1 \wedge \lambda_2$.

Proof. (1) We show that for any fuzzy k-hyperideal γ of H we have $\gamma \wedge \varphi = \varphi \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \varphi$ and $\gamma \wedge \mu_H = \mu_H \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \mu_H$. For $a \in H$, we have

$$\begin{aligned} (\varphi \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \varphi)(a) &= \bigvee_{a \in f(x_1^m)} (\varphi(x_1) \wedge \dots \wedge \stackrel{(k)}{\gamma} (x_k) \wedge \dots \wedge \varphi(x_m)) \\ &\leq \bigvee_{a \in f(x_1^m)} (\bigwedge_{t \in f(x_1^m)} (\varphi(t), \dots, \stackrel{(k)}{\gamma} (t), \dots, \varphi(t))) \\ &= \bigvee_{a \in f(x_1^m)} (\varphi(a) \wedge \dots \wedge \stackrel{(k)}{\gamma} (a) \wedge \dots \wedge \varphi(a)) \\ &= \varphi(a) \wedge \dots \wedge \stackrel{(k)}{\gamma} (a) \wedge \dots \wedge \varphi(a) \\ &= (\varphi \wedge \dots \wedge \stackrel{(k)}{\gamma} \wedge \dots \wedge \varphi)(a) = (\gamma \wedge \varphi)(a). \end{aligned}$$

This implies that $(\varphi \circ \dots \circ \overset{(k)}{\gamma} \circ \dots \circ \varphi) \leq \gamma \wedge \varphi$. If $a \neq 0$, then

$$\begin{aligned} (\gamma \wedge \varphi)(a) &= (\varphi \wedge \dots \wedge \stackrel{(k)}{\gamma} \wedge \dots \wedge \varphi)(a) = (\varphi(a) \wedge \dots \wedge \stackrel{(k)}{\gamma} (a) \wedge \dots \wedge \varphi(a)) \\ &= (0 \wedge \dots \wedge \stackrel{(k)}{\gamma} (a) \wedge \dots \wedge 0) = 0 \le (\varphi \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \varphi)(a) \\ (\gamma \wedge \varphi)(a) &\le (\varphi \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \varphi)(a). \end{aligned}$$

If a = 0, then

$$\begin{aligned} (\gamma \wedge \varphi)(0) &= (\gamma(0) \wedge \varphi(0)) \leq \bigvee_{0 \in f(x_1^m)} (\varphi(x_1) \circ \dots \circ \stackrel{(k)}{\gamma} (x_k) \circ \dots \circ \varphi(x_m)) \\ &= (\varphi \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \varphi)(0) = 0. \end{aligned}$$

This implies that $(\gamma \land \varphi) \leq (\varphi \circ \dots \circ \overset{(k)}{\gamma} \circ \dots \circ \varphi)$. Hence, $\gamma \land \varphi = \varphi \circ \dots \circ \overset{(k)}{\gamma} \circ \dots \circ \varphi$. Let us consider,

$$(\mu_H \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \mu_H)(a) = \bigvee_{a \in f(x_1^m)} (\mu_H(x_1) \wedge \dots \wedge \stackrel{(k)}{\gamma}(x_k) \wedge \dots \wedge \mu_H(x_m))$$

$$\leq \bigvee_{a \in f(x_1^m)} (\bigwedge_{t \in f(x_1^m)} (\mu_H(t), \dots, \stackrel{(k)}{\gamma}(t), \dots, \mu_H(t)))$$

$$= \bigvee_{a \in f(x_1^m)} (\mu_H(a) \wedge \dots \wedge \stackrel{(k)}{\gamma}(a) \wedge \dots \wedge \mu_H(a))$$

$$= (\mu_H \wedge \dots \wedge \stackrel{(k)}{\gamma} \wedge \dots \wedge \mu_H)(a) = (\gamma \wedge \mu_H)(a).$$

This implies that $\mu_H \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \mu_H \leq \gamma \wedge \mu_H$. Also

$$\begin{aligned} (\gamma \wedge \mu_H)(a) &= (\mu_H \wedge \dots \wedge \stackrel{(k)}{\gamma} \wedge \dots \wedge \mu_H)(a) = (\mu_H(a) \wedge \dots \wedge \stackrel{(k)}{\gamma} (a) \wedge \dots \wedge \mu_H(a)) \\ &\leq \bigvee_{a \in f(x_1^m)} (\mu_H(x_1) \wedge \dots \wedge \stackrel{(k)}{\gamma} (x_k) \wedge \dots \wedge \mu_H(x_m)) \\ &= (\mu_H \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \mu_H)(a). \end{aligned}$$

_

Hence, $\gamma \wedge \mu_H = \mu_H \circ \dots \circ \stackrel{(k)}{\gamma} \circ \dots \circ \mu_H$. (2) Let $\{\lambda_i : i \in I\}$ is a family of pure fuzzy hyperideals of H. We have to show that $\bigvee_{i \in I} \lambda_i$ is also a pure fuzzy hyperideal of H. That is, we have to show that for any

fuzzy k-hyperideal μ of H, $\mu \land (\bigvee_{i \in I} \lambda_i) = (\bigvee_{i \in I} \lambda_i) \circ \dots \circ (\bigoplus_{i \in I} \lambda_i)$. Now for each $a \in H$, we have

$$\begin{split} \left| (\bigvee_{i \in I} \lambda_i) \circ \dots \circ \overset{(k)}{\mu} \circ \dots \circ (\bigvee_{i \in I} \lambda_i) \right| \\ &= \bigvee_{a \in f(x_1^m)} \left[(\bigvee_{i \in I} \lambda_i)(x_1) \wedge \dots \wedge \overset{(k)}{\mu}(x_k) \wedge \dots \wedge (\bigvee_{i \in I} \lambda_i)(x_m) \right] \\ &\leq \bigvee_{a \in f(x_1^m)} \left[\bigwedge_{t \in f(x_1^m)} ((\bigvee_{i \in I} \lambda_i)(t), \dots, \overset{(k)}{\mu}(t), \dots, (\bigvee_{i \in I} \lambda_i)(t) \right] \\ &= \bigvee_{a \in f(x_1^m)} \left[(\bigvee_{i \in I} \lambda_i)(a) \wedge \dots \wedge \overset{(k)}{\mu}(a) \wedge \dots \wedge (\bigvee_{i \in I} \lambda_i)(a) \right] \\ &= (\bigvee_{i \in I} \lambda_i)(a) \wedge \dots \wedge \overset{(k)}{\mu}(a) \wedge \dots \wedge (\bigvee_{i \in I} \lambda_i)(a) \\ &= \left[\mu \wedge (\bigvee_{i \in I} \lambda_i) \right] (a). \end{split}$$

This implies that

$$(\bigvee_{i\in I}\lambda_i)\circ\ldots\circ\overset{(k)}{\mu}\circ\ldots\circ(\bigvee_{i\in I}\lambda_i)\leq\mu\wedge(\bigvee_{i\in I}\lambda_i).$$

Also,

$$\begin{bmatrix} \mu \land (\bigvee_{i \in I} \lambda_i) \end{bmatrix} (a) = \begin{bmatrix} (\bigvee_{i \in I} \lambda_i) \land \dots \land \stackrel{(k)}{\mu} \land \dots \land (\bigvee_{i \in I} \lambda_i) \end{bmatrix} (a)$$
$$= \begin{bmatrix} (\bigvee_{i \in I} \lambda_i)(a) \land \dots \land \stackrel{(k)}{\mu} (a) \land \dots \land (\bigvee_{i \in I} \lambda_i)(a) \end{bmatrix}$$

$$= \bigvee_{i \in I} \left[\lambda_i(a) \wedge \dots \wedge \stackrel{(k)}{\mu} (a) \wedge \dots \wedge \lambda_i(a) \right]$$
$$= \bigvee_{i \in I} \left[(\lambda_i \circ \dots \circ \stackrel{(k)}{\mu} \circ \dots \circ \lambda_i)(a) \right].$$

We have,

$$\begin{aligned} (\lambda_{i} \circ \dots \circ \overset{(k)}{\mu} \circ \dots \circ \lambda_{i})(a) &= \bigvee_{a \in f(x_{1}^{m})} \left[\lambda_{i}(x_{1}) \wedge \dots \wedge \overset{(k)}{\mu}(x_{k}) \wedge \dots \wedge \lambda_{i}(x_{m}) \right] \\ &\leq \bigvee_{a \in f(x_{1}^{m})} \left[(\bigvee_{i \in I} \lambda_{i})(x_{1}) \wedge \dots \wedge \overset{(k)}{\mu}(x_{k}) \wedge \dots \wedge (\bigvee_{i \in I} \lambda_{i})(x_{m}) \right] \\ &= \left[(\bigvee_{i \in I} \lambda_{i}) \circ \dots \circ \overset{(k)}{\mu} \circ \dots \circ (\bigvee_{i \in I} \lambda_{i}) \right] (a). \end{aligned}$$

This implies that

$$\left[\left(\bigvee_{i\in I}\lambda_{i}\right)\wedge\ldots\wedge\stackrel{(k)}{\mu}\wedge\ldots\wedge\left(\bigvee_{i\in I}\lambda_{i}\right)\right]\left(a\right)\leq\left[\left(\bigvee_{i\in I}\lambda_{i}\right)\circ\ldots\circ\stackrel{(k)}{\mu}\circ\ldots\circ\left(\bigvee_{i\in I}\lambda_{i}\right)\right]\left(a\right)$$

This implies that

$$\left[\mu \land \left(\bigvee_{i \in I} \lambda_{i}\right)\right] \leq \left[\left(\bigvee_{i \in I} \lambda_{i}\right) \circ \dots \circ \stackrel{(k)}{\mu} \circ \dots \circ \left(\bigvee_{i \in I} \lambda_{i}\right)\right].$$

Hence,

$$\left[\mu \land \left(\bigvee_{i \in I} \lambda_{i}\right)\right] = \left[\left(\bigvee_{i \in I} \lambda_{i}\right) \circ \dots \circ \stackrel{(k)}{\mu} \circ \dots \circ \left(\bigvee_{i \in I} \lambda_{i}\right)\right].$$

(3) Let λ_1 and λ_2 be pure fuzzy hyperideals of H. Then $\mu \wedge \lambda_1 = \lambda_1 \circ \ldots \circ \overset{(k)}{\mu} \circ \ldots \circ \lambda_1$ and $\mu \wedge \lambda_2 = \lambda_2 \circ \ldots \circ \overset{(k)}{\mu} \circ \ldots \circ \lambda_2$ for all fuzzy k-hyperideals of H. We have to show that

$$(\lambda_1 \wedge \lambda_2) \wedge \dots \wedge \stackrel{(k)}{\mu} \wedge \dots \wedge (\lambda_1 \wedge \lambda_2) = (\lambda_1 \wedge \lambda_2) \circ \dots \circ \stackrel{(k)}{\mu} \circ \dots \circ (\lambda_1 \wedge \lambda_2).$$

Since λ_2 is a pure fuzzy hyperideal of H. It follows that $\lambda_1 \wedge \lambda_2 = \lambda_2 \circ ... \circ \lambda_1 \circ ... \circ \lambda_2$. Therefore,

$$(\lambda_1 \wedge \lambda_2) \circ \dots \circ \stackrel{(k)}{\mu} \circ \dots \circ (\lambda_1 \wedge \lambda_2) = (\lambda_2 \circ \dots \circ \lambda_1 \circ \dots \circ \lambda_2) \circ \dots \circ \stackrel{(k)}{\mu} \circ \dots \circ (\lambda_2 \circ \dots \circ \lambda_1 \circ \dots \circ \lambda_2).$$

Since $\lambda_2 \circ \ldots \circ \lambda_1 \circ \ldots \circ \lambda_2$ is a fuzzy hyperideal of H, so

*(***1**)

$$(\lambda_1 \wedge \lambda_2) \circ \dots \circ \overset{(k)}{\mu} \circ \dots \circ (\lambda_1 \wedge \lambda_2) = \mu \wedge (\lambda_2 \circ \dots \circ \lambda_1 \circ \dots \circ \lambda_2) = \mu \wedge (\lambda_1 \wedge \lambda_2).$$

Thus we have $\mu \wedge (\lambda_1 \wedge \lambda_2) = (\lambda_1 \wedge \lambda_2) \circ \dots \circ \stackrel{(k)}{\mu} \circ \dots \circ (\lambda_1 \wedge \lambda_2)$. Hence, $(\lambda_1 \wedge \lambda_2)$ is a pure fuzzy hyperideal of H.

Theorem 5.3. Let H be an m-ary semihypergroup. The following assertions are equivalent:

- (1) H is k-weakly regular.
- (2) Every fuzzy k-hyperideal of H is idempotent.
- (3) $\lambda \wedge \mu = \lambda \circ \dots \circ \stackrel{(k)}{\mu} \circ \dots \circ \lambda$ for every fuzzy k-hyperideal μ and for every fuzzy hyperideal λ of H.

Proof. (1) \Rightarrow (2). Let δ be a fuzzy k-hyperideal of H. We prove that $\underline{\delta \circ ... \circ \delta} = \delta$.

Let $x \in H$. Then

$$(\delta \circ \dots \circ \delta)(x) = \bigvee_{x \in f(x_1^m)} (\delta(x_1) \wedge \dots \wedge \delta(x_m)) \le \bigvee_{x \in f(x_1^m)} (\bigwedge_{t \in f(x_1^m)} (\delta(x_1), \dots, \delta(t), \dots, \delta(x_m)))$$

where $x_1, ..., x_m \in H$ and H is k-weakly regular. Thus there exist $x_{11}^{1m}, ..., x_{m1}^{mm} \in H$ such that $x \in f(f(x_{11}, ..., x_{1,k-1}, x, x_{1,k+1}, ..., x_{1m}), ..., f(x_{m1}, ..., x, ..., x_{mm}))$. So

$$\delta(x) \leq \bigvee_{x \in f(w_1^m)} (\delta(w_1) \wedge \dots \wedge \delta(w_m)) = (\delta \circ \dots \circ \delta)(x).$$

Thus $\delta \leq \delta \circ \dots \circ \delta$. Hence $\delta = \delta \circ \dots \circ \delta$.

 $(2) \Rightarrow (1)$. Let $x \in H$. We show that $x \in H, x \in f(f(H, ..., \overset{(k)}{x}, ..., H), ..., f(H, ..., \overset{(k)}{x}, ..., H))$. Let $A = x \cup (f(H, ..., \overset{(k)}{x}, ..., H))$ be the k-hyperideal generated by x. Let δ_A be the characteristic function of A and it is a fuzzy k-hyperideal of H, hence by $(2), \delta_A = \delta_A \circ ... \circ \delta_A = \delta_{f(A, ..., A)}$. This implies that A = f(A, ..., A). Since $x \in A$, it follows that $x \in f(A, ..., A) = f(x \cup f(H, ..., \overset{(k)}{x}, ..., H), ..., x \cup f(H, ..., \overset{(k)}{x}, ..., H))$. This implies that

$$x \in f(x \cup f(H, ..., \overset{(k)}{x}, ..., H), ..., x \cup f(H, ..., \overset{(k)}{x}, ..., H))$$

$$\subseteq f(f(H, ..., \overset{(k)}{x}, ..., H), ..., f(H, ..., \overset{(k)}{x}, ..., H)).$$

This implies that $x \in f(f(H, ..., \overset{(k)}{x}, ..., H), ..., f(H, ..., \overset{(k)}{x}, ..., H))$. Hence H is k-weakly regular.

(1) \Rightarrow (3). Let λ be a fuzzy hyperideal and μ a fuzzy k-hyperideal of H. We show that $\lambda \wedge \mu = \lambda \circ ... \circ \stackrel{(k)}{\mu} \circ ... \circ \lambda$. Since $\lambda \circ ... \circ \stackrel{(k)}{\mu} \circ ... \circ \lambda \leq \mu_H \circ ... \mu_H \circ \lambda \leq \lambda$. Also $\lambda \circ ... \circ \stackrel{(k)}{\mu} \circ ... \circ \lambda \leq \mu \circ \mu_H \circ ... \circ \mu_H \leq \mu$. This implies that $\lambda \circ ... \circ \stackrel{(k)}{\mu} \circ ... \circ \lambda \leq \mu \wedge \lambda$. Now we show that $\mu \wedge \lambda \leq \lambda \circ ... \circ \stackrel{(k)}{\mu} \circ ... \circ \lambda$. Let $x \in H$ and since H is k-weakly regular, so there exist $t_1^m, ..., s_1^m \in H$ such that $x \in f(f(t_1, ..., x, ..., t_m), ..., f(s_1, ..., x, ..., s_m))$. Thus

$$\begin{aligned} (\mu \wedge \lambda)(x) &= (\lambda(x) \wedge \dots \wedge \mu(x) \wedge \dots \wedge \lambda(x)) \\ &\leq \bigwedge_{h_1 \in f(t_1, \dots, x, \dots, t_m), \dots, h_m \in f(s_1, \dots, x, \dots, s_m)} (\lambda(h_1) \wedge \dots \wedge \mu(h_k) \wedge \dots \wedge \lambda(h_m)) \\ &\leq \bigvee_{x \in f(x_1^m)} (\lambda(x_1) \wedge \dots \wedge \mu(x_k) \wedge \dots \wedge \lambda(x_k)) = (\lambda \circ \dots \circ \overset{(k)}{\mu} \circ \dots \circ \lambda)(x). \end{aligned}$$

This implies that $(\mu \wedge \lambda) \leq (\lambda \circ ... \circ \overset{(k)}{\mu} \circ ... \circ \lambda)$. Thus $(\mu \wedge \lambda) = (\lambda \circ ... \circ \overset{(k)}{\mu} \circ ... \circ \lambda)$. Hence λ is pure fuzzy hyperideal. $(3) \Rightarrow (1)$. We show that H is k-weakly regular. Let $x \in H$ and let $A = \{x\} \cup f(x, H, ..., H) \cup f(H, x, ..., H) \cup ... \cup f(H, ..., x, ..., H) \cup ... \cup f(H, ..., H, x)$ be the hyperideal generated by x. Let δ_A be the characteristic function of A. Then δ_A is fuzzy hyperideal of H, δ_A is pure fuzzy. Thus by the Proposition 5.2, A is k-pure in H. Since $x \in A$ and A is k-pure in H, therefore there exist $x_1, ..., x_{k-1}, x_{k+1}, ..., x_m \in A$ such that $x \in f(x_1, ..., x_{k-1}, x, x_{k+1}, ..., x_m)$. This means that

$$\begin{array}{lll} x & \in & f(A,...,x,...,A) \\ & = & f(\{x\} \cup f(x,H,...,H) \cup f(H,x,...,H) \cup ... \cup f(H,...,x,...,H) \\ & \cup ... \cup f(H,...,H,x),...,x,...,\{x\} \cup f(x,H,...,H) \cup f(H,x,...,H) \\ & \cup ... \cup f(H,...,x,...,H) \cup ... \cup f(H,...,H,x)) \end{array}$$

Routine calculations show that $x \in f(f(H, ..., x, ..., H), ..., f(H, ..., x, ..., H))$. Hence H is k-weakly regular m-ary semihypergroup.

Theorem 5.4. Let H be an m-ary semihypergroup. The following assertions are equivalent:

- (1) H is k-weakly regular.
- (2) Every fuzzy hyperideal λ of H is pure fuzzy.

Proof. The proof follows from the Theorem 5.4 and Proposition 5.2

6. On weakly pure fuzzy hyperideals in *m*-ary semihypergroups

Definition 6.1. A hyperideal λ of an *m*-ary semihypergroup *H* is called *k*-weakly pure fuzzy if $\lambda \wedge \mu = \lambda \circ ... \circ \overset{(k)}{\mu} \circ ... \circ \lambda$ for all fuzzy hyperideals μ of *H*.

Proposition 6.1. Let *H* be an *m*-ary semihypergroup. The following assertions are equivalent:

(1) Every fuzzy hyperideal of H is k-weakly pure fuzzy.

(2) Every fuzzy hyperideal of H is idempotent.

Proof. (1) \Rightarrow (2). Let us suppose that every fuzzy hyperideal of H is k-weakly pure fuzzy. Let λ be a fuzzy hyperideal of H. Then for every fuzzy hyperideal μ of H, we have $\lambda \wedge \mu = \lambda \circ ... \circ \mu \circ ... \circ \lambda$. In particular $\lambda = \lambda \wedge \lambda = \lambda \circ ... \circ \lambda$. Hence every fuzzy hyperideal of H is idempotent.

(2) \Rightarrow (1). Let us suppose that every fuzzy hyperideal of H is idempotent. Let λ be a fuzzy hyperideal of H, then for any fuzzy hyperideal μ of H, we always have $\lambda \circ \ldots \circ \mu \circ \ldots \circ \lambda \leq \lambda \land \mu$. On the other hand, $(\lambda \land \mu) = (\lambda \land \mu) \circ \ldots \circ (\lambda \land \mu) \leq \lambda \circ \ldots \circ \mu \circ \ldots \circ \lambda$. Thus we have $\lambda \land \mu = \lambda \circ \ldots \circ \mu \circ \ldots \circ \lambda$. Hence λ is k-weakly pure fuzzy.

References

- P. Corsini, V. Leoreanu, Applications of hyperstructure theory, Advances in Mathematics 5, Kluwer Academic Publishers, Dordrecht, 2003.
- [2] B. Davvaz, I. Cristea, Fuzzy algebraic hyperstructures. An introduction, Studies in Fuzziness and Soft Computing 321, Springer, 2015.
- [3] B. Davvaz, Semihypergroup theory, Elsevier Academic Press, Amsterdam, 2016.
- [4] B. Davvaz, W.A. Dudek, T. Vougiouklis, A Generalization of n-ary algebraic systems, Commun. Algebra 37 (2009), 1248-1263.

- [5] B. Davvaz, W.A. Dudek, S. Mirvakili, Neutral elements, fundamental relations and n-ary hypersemigroups, Int. J. Algebra Comput. 19 (2009), no. 4, 567-583.
- [6] B. Davvaz, T. Vougiouklis, n-Ary hypergroups, Iran. J. Sci. Technol., Trans. A, Sci. 30 (A2) (2006), 165-174.
- [7] W.A. Dudek, On (i, j)-associative operations with non-empty center, *Ricerche di Matematica* 35 (1986), 105-111.
- [8] W.A. Dudek, Idempotents in n-ary semigroups, Southest Asian Math. Bull. Math. 25 (2001), 97-104.
- [9] W.A. Dudek, I. Groździńska, On ideals in regular n-semigroups, Mat. Bilten 29(30) (1979/80), no. 3-4, 35-44.
- [10] M. Ghadiri, B.N. Waphare, B. Davvaz, n-ary Hv-structures, Southeast Asian Bull. Math. 34 (2010), 243-255.
- [11] K. Hila, B. Davvaz, K. Naka and J. Dine, Regularity in terms of Hyperideals, *Chin. J. Math.* 2013 (2013), Article ID 167037.
- [12] N. Kuroki, Fuzzy bi-ideals in Semigroups, Comment. Math. Univ. St. Paul. 28 (1979), 17-21.
- [13] V. Leoreanu-Fotea, B. Davvaz, n-hypergroups and binary relations, Eur. J. Comb. 29 (2008), no. 5, 1207-1218.
- [14] V. Leoreanu-Fotea, A new type of fuzzy n-ary hyperstructures, Inf. Sci. 179 (2009), 2710-2718.
- [15] F. Marty, Sur une generalization de la notion de group, 8th Congres Math. Scandinaves, Stockholm, (1934), 45-49.
- [16] J.N. Mordeson, D.S. Malik, N. Kuroki, *Fuzzy semigroups*, Studies in Fuzziness and Soft Computing 131, Springer, Berlin, 2003.
- [17] J.N. Mordeson, K.R. Bhutani, A. Rosenfeld, *Fuzzy group theory*, Studies in Fuzziness and Soft Computing 182, Springer, Berlin, 2005.
- [18] S. Ostadhadi-Dehkordi, Semigroup derived from (Γ, N)-semihypergroups and T-functor, Discuss. Math., Gen. Algebra Appl. 35 (2015), 79-95.
- [19] H.A. Thurston, Partially associative operations, J. London Math. Soc. 24 (1949), 260-271.
- [20] A. Rosenfeld, Fuzzy groups, J. Math. Anal. Appl. 35 (1971), 512-517.
- [21] F.M. Sioson, On regular algebraic systems, Proc. Japan. Acad. 39 (1963), 283-286.
- [22] L.A. Zadeh, Fuzzy sets, Inform. Control 8 (1965), no. 3, 338-353.

(A. Naço) Department of Mathematical Egineering, Polytechnic University of Tirana, Albania

E-mail address: a.naco@fimif.edu.al

(A. Peposhi) Department of Mathematical Egineering, Polytechnic University of Tirana, Albania

 $E\text{-}mail\ address: a.peposhi@fimif.edu.al$

(K. Hila) DEPARTMENT OF MATHEMATICAL EGINEERING, POLYTECHNIC UNIVERSITY OF TIRANA, ALBANIA E mail address: keetee hile@upbee.com

E-mail address: kostaq_hila@yahoo.com

(S. Onar) YILDIZ TECHNICAL UNIVERSITY, DEPARTMENT OF MATHEMATICAL ENGINEERING, DAVUTPAŞA-ISTANBU, TURKEY *E-mail address*: serkan10ar@gmail.com

(B.A. Ersoy) YILDIZ TECHNICAL UNIVERSITY, DEPARTMENT OF MATHEMATICS, DAVUTPAŞA-ISTANBU, TURKEY *E-mail address*: ersoya@gmail.com